
1
.

a) 22/11124
8= 6

# Let the river flow in

the-y-axis direction at
3

3mph and the + x-axis

as the direction straight

↑ sin0 = 3 across the river.

sinc=I
o=
: E from the positive x-axis .

b) The rower is not able to go straight across the

river as the vertical velocity component of Emph

can never cancel out the river velocity at 6mph.
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Let M , be the midpoint of AC and M2

be the midpoint of BD.

We want to show that #M
= EN-

#M =# FB = DE = LAB+
2

# = AB+ID

=B+ + +I
2

=

I (EB + BB + DE)

=E : A
= An

·

It
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· #
Let M, be the midpoint of

AB
,
and Mr

,
Ms

,
My be

the midpoints of BC
,
CD
,
and DA respectively.
->
->

If M, MzMsMy is a parallelogram , M .My
= MzMs

->
McM4 =M+Min
->
->

M2M4 =M+MyMa

=>M+M=im +i

=> (MR+m? ) +M =m+ (MP+D)
->

Because MB =c
,
S =NA

,

MID=M,M = Mr A

->

=> cu+Ni +M = MaMs +C + NA
->

-MIAM = - c++ MaMs

->

M +A +m = M+c + McMs
->
->

2MiM4
= 2 M2Mz

->
/

.

M = MzMs
.
I


